EARAROBEEIERT — 2 N— IBISH —F

20129 7A3H (k) 6mPIRIA

KhW 7% —f# C4 80AT

‘ [Riz] & ‘

[RERBE] — | & (&) 12000 B

[A~&E£] 1 7% :150,000 @ ~ 23%&:24,000 W ~ 3% :18,000 W ~ 43%&:12,000 W 53 :6,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B3 | EBRT 1:15.4 1-1 38.1| — 1 504 | RERR (bims)
ilglg|7m2n 54.0 o Loy | ) wmis
R:v—FJH414v BTV [EEN e ]
: >4 A 116. - 8| - )
N NE & Al e R B e el -
R:79752748— B:€571—Fz BL BA
N N HERE :16. = . - IWEMA (dcEE)
3 0| A= TNINZE— i 3 it 1 (11633 3-3 38.8 3 <4+66C; ik *ngp
LA—JWHh7x B:YUFRKRIZ EARYS
= A0 FREABD : -~ — 1£BEREE (iEE)
a3~z R g4 412 g 1.(157).3 7-6 39.5 4 Azg;t TR il
R:IIHEA— BIFRNE A — BRMS
. B4 | BIIED 1:17.8 3-3 40.3| — 10 | 426 |/NEFE (dbims)
5|8|10| ¥ ¥ v ANILF 54.0 2 1/2) o |BRE— =
R:ZAFrE—HI—I K BiF¥oyIb—> Wt A
= 5 o6 | BEEM 1:18.1 9-9 39.8| — 6 450 | MLEEFE (dtimsE)
EE At %.0 (1 1/2) o |AmEz=="
RS Ry T—N— B:FArI—FLy b PN
=g = — it 8 | BETE 1:18.3 6-6 40.6| — 9 438 | FREESERI (dLiE)
2l 7 | T—KLFEzT = A o o) | WA
LNTNALT7zA—- B:FTIRT— EXarie]
o N INHREE : = — BHAW (AtimE)
8l5l5|/svavyva Y ) A T o |mEE
L:2FA4d—Ib K B:/NPalE— NS T A TS
= = 4 5 | ERIEE 1:18.5 3-5 “n.0| — 7 412 | EREERR (L)
N MEEE R E T 54.0 (1/2) o |HEE .
L:7¥AFY=Zyy B F T4~ E3a=Lve
YN o4 | BIES 1:19.1 10-10 407 | — | 7 | 434 |WEEE (s
10 3| ¥/NB-F=z 54.0 @) 8 |. &) R-x57
L:TZRTLE— BANVTFT—J HEI77—L4
® 1—F—@EBIERL
13—7-—
20—F—
Jol=5r= (8,9),(2,4,10),7,(1,5),6,3
43—+ — (8,9),(2,10) ,4,(1,7),5,6,3
[ /N
B 9 110M % & 7-8 300M 3EE 2-8-9 190
B B 9 100 B & 8-9 230M EH 9-8-2 440
8 100M B E 9-8 320M
2 100

ABICOVWTRDTEEERROODE. TR LIV,




